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QUESTION 1

How can an administrator reduce overhead when utilizing monitored directories?

A. Increase the polling interval so that the process runs less often.

B. Decrease the amount of time that the monitored directory is accessible by users.

C. Decrease the size of the monitored directory so that larger files will not be able to be stored in it.

D. Configure the monitored directory settings to not automatically synchronize the application once it is installed.
Correct Answer: A

To change the standard polling interval setting, specify a number of seconds in the Polling interval field.

Figure: Configuring the monitored directory
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Reference: Application Server V8.5, July 2013, page 852

QUESTION 2

Which is true statement regarding High Performance Extensible Logging (HPEL)?
A. Log and trace data is stored in a binary format.

B. The server does not have to be restarted to enable it.

C. Logging information in a text log file is disabled by default.

D. Information and data is logged to the activity.log file.

Correct Answer: A
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Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/
com.ibm.websphere.nd.multiplatform.doc/ae/ctrb_ HPELOverview.html

QUESTION 3

Which two methods are used for communicating session linkages between the client and the server? (Choose two.)
A. Cookies

B. LTPA Token

C. Rest Services

D. URL Rewriting

E. HTTP Response codes

Correct Answer: CE

Representational State Transfer (REST) is a lightweight framework for designing applications that use
HTTP to make calls. REST uses HTTP to perform the Create, Read, Update, and Delete (CRUD)
operations between client and server.

Applications interact with the services by using HTTP, POST, PUT, GET, and DELETE operations.
Reference: https://www.ibm.com/support/knowledgecenter/en/SSZLC2_7.0.0/

com.ibm.commerce.webservices.doc/concepts/cwvrest.htm

QUESTION 4

To ensure that all web traffic is secure from the client to the application server, which two layers have to be configured
for SSL? (Choose two.)

A. Client to Web server

B. Web server to node agent

C. Web server to application server

D. Application server to node agent

E. Node agent to deployment manager
Correct Answer: AC

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg27036662andaid=1

QUESTION 5
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Which of the following is true regarding disk offload?

A. The amount of disk space to use cannot be specified.

B. On server startup, DynaCache loads the entire disk cache into memory.

C. The number of cache entries that are offloaded to disk cannot be specified.

D. Disk offload can be enabled to have a cache entry copied to the file system at a configurable location.
Correct Answer: ACD

AC: Before you enable disk offload, consider the following:

You cannot specify the number of cache entries that are offloaded to disk.

You cannot specify the amount of disk space to use.

D: You can enable disk offload to have a cache entry copied to the file system (the location is configurable).

Reference: https://www.ibm.com/support/knowledgecenter/SSEQTP_9.0.0/com.ibm.websphere.base.doc/
ae/udyn_rcachesettings.html
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